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public class ClassName {
public static void main(String[] args) {

70535 LKIK
}
}

J

e IRTDTAYSL%E “TAOHSLEARK OESIZ5ER

LE2D “public static void main(String[] args)” $ AV Yk

D—D (Main A Yy K)

—\IZTATSI0ITR, TRUSLEHDFEEFY EHo1-8

SIHSEL, REZRS

Java TlX, 7RIS LDMMIEE “AVy K" TRRT S
HMoibEhf=-7 055 LDEAE Java TIEA Y Yy FERESR



AYY FDEZEH

public class ClassName {
public static void main(String[] args) {

¢ = methodi(a, b);
method2(x) ;

}

public static int methodl(int a, int b) {
}
public static void method2(double x) {

}
}
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public static double add(double x,double y){
double z;
zZ=3x+7y;
return z;

}
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XYy k4 calcStdWeight

public static double calcStdWeight(double height) {
double weight;
height = height / 100;
weight = height * height * 22;
return weight;
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public static int sampleMethodl(int a, int b)
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public static double sampleMethod2(int a, double x)
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public static boolean sampleMethod3(int a, int b, int c)
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public static void sampleMethod4(double x)
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sw = calcStdWeight (170.0);
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h = 170.0;
sw = calcStdWeight (h) ;
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public static void main (String[] args) {

h = 170.0;
sw = calcStdWeight (h);

170.0

/
public static double calcStdWeight (double height) {
double weight;
height = height / 100;
weight = height * height * 22;
return weight;

63.58
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AV K4 : printMessage

public static void printMessage(double weight, double stdWeight) {
double diff = weight - stdWeight;
if (diff < -10) {
System.out.println("Underweight.");
} else if (diff < 10) {
System.out.println("Normal.");
} else {
System.out.println("Overweight.");
}
}
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h = 170.0;

w =170.0

sw = calcStdWeight(h); — RYEZZEH# swIHKA
printMessage (w, sw); — RABREFHLSZL
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public static void main(String[] args) {

double x, y;

y = methodl(x);

z = methodl(y); IS5—X
}

public static double methodl(double t)
double x, y, z;
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XYy K4 . maxOfArray

public static int maxOfArray(int[] a) {
int i, max;

max = al0];

for (i=1; i<a.length; i++) {
if (ali] > max) max = alil;

}

return max;

e CMDAYY FOMREUHL
o int BELH arr DEEBZRIZCT—EDEMINTINS ET D E

max = max0fArray(arr);



RUMBE LTESZRT Ay F
o TRTOEHRN 1.0 THABRIEEMTHAY Y K

Ay K4 : ones

public static double[] ones(int n) {
int i;
double[] x = new double[n];

for (i=0; i<x.length; i++) {
x[i] = 1.0;
}

return x;
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double[] x;
x = ones(5);
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XYy K4 : inputlnt

public static int inputInt() {
Scanner sc = new Scanner(System.in);
int i = 0;

i= sc.nextInt();
return i;
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a = inputInt();
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A K4 : inputDouble

public static double inputDouble() {
Scanner sc = new Scanner(System.in);
double d = 0.0;

d = sc.nextDouble();
return d;
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x = inputDouble();
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Samplelnput.java

import java.util.Scanner; +— ZO—TEBTAND

public class SamplelInput {

public static void main(String[] args) {
System.out.print ("Input an int : ");
a = inputInt();
System.out.print ("Input a double : ");
x = inputDouble();

}

public static int inputInt() {

}
public static double inputDouble() {

}
}
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Weight3.]

import java.util.Scanner;

public class Weight3 {
public static void main(String[] args) {

) a06a
public static double calcStdWeight(double height) {

) 9000

public static void printMessage(double weight, double stdWeight) {
) e

public static double inputDouble() {

.
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public static void main(String[] args) {
double h, sw, w;

System.out.print("Input height (cm) : ")
h = inputDouble();

System.out.print ("Input weight (kg) : ")
w = inputDouble();

sw = calcStdWeight (h);
System.out.println("Standard weight : " + sw + "kg");

printMessage(w, sw);
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public static double calcStdWeight(double height) {
double stdWeight;

height = height / 100;
stdWeight = height * height * 22;
return stdWeight;

printMessage * Vv k

public static void printMessage(double weight, double stdWeight
double diff;

diff = weight - stdWeight;

if (diff < -10) {
System.out.println("Underweight.");

} else if (diff < 10) {
System.out.println("Normal.");

} else {
System.out.println("Overweight.");
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public static double inputDouble() {
Scanner sc = new Scanner(System.in);
double d = 0.0;

d = sc.nextDouble();
return d;
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